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by -2 on the number line. The opposite of
~2is 2, 50 the next clue is in the room
represented by 2 on the number line, the
science lab.

Rubric

2 points for answer;

2 points for the explanation

(-4, 3) were reflected across the
X-axis and then that point was
reflected across the y-axis, the
resulting point would be (4, ~3).

Rubric

a. 1 point for noing the sign change

b. 1 point for noting the sign change

. 1 point for noting the sign changes:
1 point for the coordinates of the result
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6.NS.6a, 6.NS.6b
SELECTED RESPONSE Select all correct answers.

Select the correct answer.

1. Describe the locations of 3 and =3 with
respect to 0 on a number line.

(@& 3 is to the right of 0, and -3 is to the
right of 0,

(B 3is to the left of 0, and -3 is to the
left of 0.

@© 3istotheleftof 0, and -3 is to the
right of 0.

(DD 3 is to the right of 0, and -3 is to the
left of 0.

2. Whatis the opposite of 122
@®-12

1
® -5
1
© 45
@ 12

3. In which quadran

@ Quadrant |
(B Quadrant Il
@© Quadrant lil
(D> Quadrant IV

6. Which pairs of numbers lie on opposite
sides of 0 on a number line?

@R 8,7

@ -10,10

©-4.9

@ -8,-15

® -21,21

@ 2,200
CONSTRUCTED RESPONSE

7. Graph =5, 0, 2, and 4 on the number line.
‘Then, graph their opposites on the same
number line.

8. Elevation is measured as a distance
above or below sea level. Sea level has
an elevation of O feet. Johanna is
standing on a hillside 35 feet above sea
level, and Marcus is exploring a cave at
an elevation that is the opposite of
Johanna's elevation. What is Marcus's
elevation?
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9. The point (1.235, -987) is in Quadrant IV.
gt 19 o rtectedzoss | vtk of tecion out move s
. a point from Quadrant IV to Quadrant IlI?
@ Quadrant | Which coordinate(s) would change signs?
(B Quadrant Il
(@© Quadrant Ill
(B Quadrant IV

5. Choose the correct sign description of a
point in Quadrant |

® +4)
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10. To celebrate the 100th anniversary of the
opening of their school, the teachers
organize a treasure hunt for the students.
One ofthe clues states, “Think of the
main office as 0 on a number line. You
willfind the next clue in the room that is
the opposite of the teachers’ lounge.” Use
the diagram below to determine where
the students should go to find the next
clue. Explain.

Boy' Room
Scionce Lab
Classroom

Gym

1. a Find the opposites of8, 1, and 7.

13. The following graph shows the point
(=4, 3). It also shows the points that result
when (~4, 3) is reflected across the x-axis
and the y-axis.

(4,3) (4.3)
. .

12345 x

a. The point (4, 3) reflected across the
x-axisis (~4,~3). What do you notice
about the signs ofthe coordinates?
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_—— b. The point (-4, 3) reflected across the
b. Find the opposites of the opposites y-axis is (4, 3). What do you notice
from part a. about the signs of the coordinates?

. What do you notice about a number
and the opposite of its opposite?

. What do you think would happen to
the signs of the coordinates of
(-4, 3) if it were reflected across the

12. Consider the ordered pair 2 y| Finda x-axis and then the result was
3 reflected across the y-axis? Explain
value of y that places the ordered pair in your answer and provide the
each quadrant. If it is not possible for the resulting point.

ordered pair to be in a certain quadrant,
explain why.
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6.NS.6a, 6.NS.6b Answers

1.0
2.A
3.D
4B
5.A
6.B.C.E

7. The opposite of =5 is 5.
The opposite of 0is 0.
The opposite of 2 is -2
The opposite of 4 is ~4.

B T S S

Rubric
0.5 point for each nonzero point;
1 point for zero and its opposite (they are
the same point)

8.-35 feet

Rubric
1 point for the correct number; 1 point for
including units

9. Areflection across the y-axis would
move the point to Quadrant Iil. The
x-coordinate would change from positive.
to negative.

Rubric
1 point for identifying the transformation;
1 point for identifying sign change

10. The students should go to the science

Iab. The teachers’ lounge is represented

11.a.8,-1,and-7
b.-8,1,and 7
c. The opposite of the opposite of a
number is the same as the original
number.
Rubric
a. 0.5 point for each opposite
b. 0.5 point for each opposite
c. 1 point
12. Quadrant I: Possible answer: y =1
Quadrant IV: Possible answer: y =~1

The ordered pair [%y] cannot be in

Quadrant Il or Quadrant Ill because the

x-coordinate is positive.

Rubric

1 point for Quadrant | value;

1 point for Quadrant IV value;

1 point for stating the point cannot be in

Quadrant Il or Quadrant ll;

1 point for explanation

13.a. The y-coordinate of the point (~4, =3)
has the opposite sign of the
y-coordinate of (-4, 3).

b. The x-coordinate of the point (4, 3) has
the opposite sign of the x-coordinate of
(-4.3).

c. A reflection across the x- and then the.
y-axis would result in a change to the
‘signs of both coordinates. If




